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http://ar.wikipedia.org/wiki/%D8%AF%D8%A7%D9%84%D8%A9_%D8%B1%D9%8A%D8%A7%D8%B6%D9%8A%D8%A9
http://ar.wikipedia.org/wiki/%D8%B2%D8%A7%D9%88%D9%8A%D8%A9
http://ar.wikipedia.org/wiki/%D8%B2%D8%A7%D9%88%D9%8A%D8%A9
http://ar.wikipedia.org/wiki/%D9%85%D8%AB%D9%84%D8%AB_%28%D9%87%D9%86%D8%AF%D8%B3%D8%A9%29
http://ar.wikipedia.org/wiki/%D9%86%D8%B3%D8%A8%D8%A9
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1.sin(x ¥ y) = sinx cosy + siny cos x
2.sin2x = 2sinx cos x
3.cos(x ¥ y) = cosxcosy t sinxsiny

4.cos 2x = cos?x —sin?x =1 — 2sin®x = 2 cos?x — 1

5.sin’x + cos’x =1 , tan’x + 1 = sec’x , 1+ cot?x = csc? x
. 1 — cos 2x 5 1+ cos 2x
6.sin“x = —— CoS“x = ———
2 2
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e sinu —cosu.dx T cosu) = smu.dx
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N secu) = secu anu.dx T CSCU) = — CSCUCO u'dx
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—y=35in22x><c052xx2
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= 6 sin? 2x cos 2x

x=m N y=x%sinx+ 2xcosx — 2sinx Al d&ida 2 (V) Jla
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y' =x2%cosx + 2xsinx — 2xsinx + 2cosx — 2 cosx = x% cosx

y'(m) = n?cosm = n?(-1) = —m?
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1. y =cos(1 —2x) 2. y=+/xtanx
coledld y=0—cosf , x=60+cosf S Y
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http://www.ar-science.com/2015/02/type-of-functions.html
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" (sin~'w) = 1 du
7 sin"tu Ao i
-1 du
2.—(cos™tu) = ——.—
ax 5 W= e
d 1 du
_ 1 — _
3'dx (tan™"u) 1+ u? dx
d -1 du
4, — -1 = —
dx (cot™ u) 1+ u? dx
. d( 1) 1 du
—(sec™tu) = .
dx lulVu?z — 1 dx
6 d( 1) -1 du
—(cscty) =————.—
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= x X sinlx + ——
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= % +sin"1x — AR sin"1x
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T
y'(0) = 2cos™1(0) = 2 x S=7

Ll sl dy /dx 2
1. y=x(sin"1x)? —2x + 241 —x2%sin"1x

2. y=2xcos tvx +sin"tvVx —x — x2

3. y= cscTi(x?+1)
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y= oot (T



oWl alasall — clyagll g Blyall agle ad — aslell 8412 — Jyly deals
SNV K}AA hl’}‘o aA.q — 797 T4 \Q.al)bﬂ ,\bdl \]9&’1 J.g‘&ll —(Tv) mhnh)ll ml)nlAA




